(Arr. Wayne Richmond 2010)

yOU bglong to me Pee Wee King, Chilton Price & Redd Stewart

Intro

()«

y X

Ah

Ah

Mar

1 M =
PP w 1 1
o
[ 1
L v o
E=]
1 <
1 g
ﬁ g
I 7 \h“.
v .
L1 W
k5
primi [=} .
= ~e 1
v
LT (0]
=
=
=]
ey 2
<
2
ard TN
L | e EEEE
P an
|
e g S
Z
| | O 1
x =
=]
an
)
T 2
L , EEEE EEEE
Pimi
L) <
T |72}
=
ﬁl g
1
T <
7 .
i z ' NN
Pan [}
=i
—
1 )
O
n
NEE
B ==
3
A ™ AN
e G N
N of /u V4
s g o0
= - =
o

10

. _ﬁlé
T 170 T
o . o .
Nl g fl L g 1
Pim 2
d
n .
il 2 [
anl w I
e |
H 3
Nl ) >
kg m € U
" g
~y
. i) JIoR
T = IREL Y=
111 3 =
NE _
I =
Tv 7 (N
lhﬂv ma
~C 1 Iv.‘v m
T 2
III—|' «._1 ﬁ\r\
g
111 laM
| || m RN )
A =R
lhrl’ W
3|
. N “n
~¢ P .m
E= 4
E=S
T j= va vl
e R PN
5 — 0 =
> m 2
=

ve-nirs,

sou

send me pho-to - graphs and

old___ Al- giers,

See the mar-ket place in

ol
|l

Ah

Mar

40



18

_ﬁlé
TTTO T
Pis
Q .
TN E e |
v d
L =) -
= 0| |
P anl M 1
T |
|| =
Pis 1)
>
1 flll. <=
L § |mmm < L
! NP
& )
M2 i g
N i '
, .
11 m ~C
<
.o 1L m
17 o k) m
<
* 5
e <=
W h\'\
™3
= AL = 1
A B
e
1' vw ﬁ\'\
Q
R 2]
¥ a
=3
E3Y
B £ By
N N N
b= e 5
< . an
> A !
=

Bridge

22

() 4
p’ A

1 1 ‘Iﬁ
11 = e =]
11110 WJ N\ AVU/.
1
L° o N| 2
v =
=
[ | 1 1
Q
=)
H S
o]
o
v
J
O
1
T1 N
i = i
=
=
n v ks v v = v vd
N NG
5 L rvl.\
s o 3
s

Verse 3

26

1
h
v

|
T

y X
P

9»

blue.

and

- some too,

lone

be__you'llbe

May

IDIO'
|

vy

)

Ah

Ah

|
L

e
| st | I
% 1

o #ﬁ’ o

T
I

-
o

——
—_—

%——1

Mar

41



11 o
et/ 5
-
LT um 1
2
~C
-
ERE 13}
2
L1 1 VS
X
il
| o
E
B NV
T 2
50
Pl o o
o ~C
—
primi Q
=
—
e
Ll 3
L2
<
2
. ] =
<
N L) =
T °
AD <
¢ g
T < TN o=
i)
| o
>
|
i @ TN S
W <
N g
Pia S
o
! .
=} TN
Wi )
=
—
- S
f (&
= L) =
2 N <
2
i e\
N
_t | N
e\
< ~
S N
s g
=] Rt
S m

J=100

slow & free
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just re-mem-ber
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